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RAILWAY ENGINEERING

Assignment - |

Find out the radius of the rack laid on 4 ° curve.

\_—/2- Find out the degree of the curve if the radius is“1‘5(_)0 ft.
\ 3"  Find out the degree of the curve if the radius is 500 m. C(‘“wc .
\}/ Find outthe radius of traz_:k in ft laid on 3 degree of the curve.

=

If a 3 degree curve is located on a ruling gradient of 1 in 150. How much is the
gradient on the curve

4.

‘Find out the actual gradient of the track laid on 4 ° curve. The track is Broad gauge I
track and ruling gradient is 1 in 200. .

/7./ Find out the actual gradient of the track laid on 5 ° curve. The track is Standard gauge '\
track and Tuling gradient is 1 in 150. : ; : ’

4 ' Calculate the expressions for BG, MG, Standard gauge and narrow gauge track when .
speed is inmiles per hour and R is in ft and super elevation is in inches ,1 mile = 5280 o

i, g=32.2 fi/sec? \

/ Caiculate the expressions for BG, MG, Standard gauge and narrow gauge track when

speed is in km per hour and R is in m and super elevation is in cm.
/10, Find SE of 2 3° curve fora BG, MG, NG track. The permitted speed is 50 mph.

A Find SE of a 4° curve for a BG, MG, NG track. The permitted speed is 60 km/hr.
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12. . A 6°curve branches off a 3° main curve in opposite direction in the layout of a BG
track. If the speed on the branch track is restricted to 2. mph. Determine speed
restriction on main line. Assume deficiency in super eievation is 3 inches,

™[3” On aTailway track 15, 12, 8 and 5 trains move at a speed of 50, 45, 40 and 60 mph.

h;\,_,_;, Find the speed for which super elevation is provided. Also calculate equilibrium super

e
W3 elevation. The track is broad gauge having degree 3.

14. @alculate super elevation and maximum permissible speed for a 2 degree broad gauge
“transitioned curve track with maximum sanctioned 'speed of 110 km/hr. The speed for
calculating super elevation as decided by the chief engineer is 80 km/hr and speed for
goods train 1s 50 km/hr)(Hint; maximum permissible speed is minimum of; maximum
sanctioned speed, maximum or safe speed over the curve based on theoretical

consideration, presence.or absence of transition curve)

15. Find the track material required for one mile length of track with sleeper density of

n+4.

Scanned by CamScanner



3.32°

Scanhed by CamsScanner _,




CN
SRE R
D=3

_»/ p _ 5730

D
:f";° =910 {4
85 o
D- 3
U,LL‘ ao‘%} | o \S O .
(2 OT 7__‘.-——-9“00 :0‘67/
1$0
=7

Scanned by CamScanner



o Ak et =7
N = Y4°
B(p Jchccl’&

(2“/("0 7/50(/@&3 - [1n 200

‘ X(OD - O’S-\/.

CJ. " 200 i
L ack Comepreusehon .é,, )7 = 005 Y
“ y ~ Y- H4xo0.0§ = 0.2
A_fj—uu/, 24& d'b«} = Og-"' 02
= O 3 \/.
<1
oA
D AL(MJ 2400‘&«}: 7
D:- 5"

Lo/ ?Wé f,,wpwa.\ % [* = 0037
il 5° = S$€X003 -0y
MA,J?MJ» 0467 - 01§ :
= 0 §'7/ |




Cledoi ex 0 hussiors

WL" \} n l‘\rJL ‘N,,&—_ 5236 1(‘ é(gj 5.5/
(1) 2 BG-329/
R H 9= 322445 g0y,
e w inchgy Ne- 2.7
)
/'
> Bk
e- GV2 :Qs.g (5323,0) Vv ,1>
ﬁﬂ 32.2 R
= - H\\}L \M)
- MG

S230
’G'ﬁs 3600) )xlz
32-2 L

= 2-64N° -
()

szz)v

e - L‘ 7‘ 3600
32.2 R

= 3.73%Y ()
2

¢230 g2
€ = 2-5 ( 36060 V

3221

= 2B )

Scanned by CamScanner



BG= [167(m
MG = [w

$6 = EC
NG:= 0-76Zn

"—*’99(” - 2
GN‘ &(’76 (?600) v X [ov
3¢ T qaup

= 1Y ()
(¢
-) MG"

| Scanned by CamScanner |



. . Q(ﬂ:' SS”
D- 3° M G- 3-29"
V- COmph N G- 27
= 5730
12
- S73° _ 9044
3
G
26 = e- V2
NIG
= [N gz%b) <‘5O)1
X (2
3224 X 14900
= 5"771‘*\

M6 - 3 4C
N6 = 2:62ir

Scanned by CamScanner



B - }’676}”
MG= lu

| Sﬁcanvned by CamScanner “



ﬂ=S'730

Ft;/’- ﬂ G’ {AﬂcL -73-
/ =S'73U o C,gg/
6’!: 5-¢ b
Foé
BMwJ' 0 = GV* _ $. ¢ )((22) (S’?—So
‘ jlz 3&00 x| 2
32'2xﬂ‘iss-
¢ = 2-23 v

Naga/»'-f @ in Bhach ek - SE Lf +SE

= -3 4+ 233
= —~0-777

TE”’“‘VL‘“"( SE '{"" pcon Arech - 2+ 0771
= 3-77"

O\A}b‘ Auﬂ ig )\J‘SZ\#\ %W Inn & ))wj /47 0-777

e= GV’
o ST
J 0
£ L= G130
3-77=( 5:¢ v (S25) n :
22-2 x 1410 R = (/04

5

S:"cénh:édv by 'Cam'SéérJi ner



| 'p,;ol,ﬁ
‘D/"')fw ﬁ"""‘“ = /5, /L, 3, ¢
\/ = QO,'TS’IQO,QO ‘Mfl\

o) peed =7 ab 4o bl e i kel

L) &%s,@lwm o' = ‘7
Thach = BG
D - 3°
gafo"

s BG = b= S

- $7%26 . §73° jas04f
& £}

d) Voo omVe mVe o niVs & ny\y

Mt ha 4 h3 Ay
_(e) (o) < (1) (4) + (X Ho)+ (5)(¢O)
[S+12+¢ 8#(

b) e = GV >
| jp €236 \2
, 2
_ (56 % 4 7:75) %OD) 2
— 32.2x |q/0

| Scanned by CémScahher -



D‘JLU e: ?
PDs=2°

D - = %7§““
=) S E ’éo& Qyu/@l&'uﬂ— /J'/m;'c'o/ —e = GV&_
i IR

€ - 67 o902
___g_ 6) ( jAoU> (‘S) X /o0
931 x g1¢
€= G (Yo
= CE ’é*y’ may.,  Som c\l""*-f»j S/")C(J:

e - (LG?E) (’;‘;: ) (l!o)L A

| 731 ¥ 31§
e = |3 236

Gk ey - g3y e
. AT AL T '-;. 8§“fc‘~. A,OLM- ’Mrc /7'341"'4:35;!&”’

Scanned by CamScanner




‘-> ff {o’» 3@04 Asa

o e C")\IZ‘
j,ﬁ

L676) (l"”" 2 (§6)2

362 0
QZ) X 87¢

X /00

e = 2-77tm

C(/IMJL" X s = Ci*él{ = '3_—,7

= g y 87 Con ( 7 S
/‘—"me ﬂ&m&nuﬂé

— Max ﬂ&m;sM S)/Lc(J ga«é( S)ﬂx?@o/ Jéam(
[y b gpee A Bode

((a—tCa() ,(

£ ( 276 1A o

Ca ancl Cc/ i ((vvm) |
- \@ +25:9) §7¢

/3-76 !

_ V= (03%/h '
| /Mﬁ/ ﬂwwssf Y spued g Lieo t 4’{ é/aééw
5 guibned spued = N0 lA | |
2
23 /”w b [ St sy /g a%whﬂ /oalm/g

fn ] ﬂﬁwqyz% 5/%(9/ > V¢, W‘ £ /0.‘8 lcw/l\
% + W» vk = 60 .

Scannéd by Cam.Scéhner'




" 7/;%’4 etk = o 5’6 816‘1’16’*4 = ’%p(, s
o Slegy irhz nl e

Lot of thack = e

/Z,J L3 N = 760 goob

Scanned by CamScanner



